RATIO & PROPORTION

Condition of proportionity
ad = bc
eg : are 20, 30, 40, 50, in proportion.
20 x 5 # 30 x 40 Not in proportion

eg : find fourth pupoltion to 15, 20 and 30

15_30 30 x 20_
0=x X === =40

eg : No. of chair Cost of chair

9 Rs. 720
7 l Rs. x \L
9  Rs.720 7 %720
# = X!
7 Rs.x 9
Rs. X = Rs. 560

Ifa:b:c:d= ad=bc

or
extreme terms

fourth proportion

middle term/means

A

If a, b, c are in continued proportion

(a:b=b:
(i) —' E
c

(iii) b2 ! ac

mean proportion

b! +ac

a_b
b ~ c<— Third proportion

eg : 8,12 and x in continued
proportion then

8_12 _12x12_
x> X="5 =18

Continued Proportion

v
:— B_ C_

L.C.M. (3,2,5) = 30

_10xK.p _15xK 6 x K
A_10><3’B 15><2’C 6x5

~ A:B:C=10:15:6

eg : mean proportion b/w 2 and 8

b! V298 | V2w %2 %2 ! 4

Ifa, b, c,darein
continued proportion then

a_b_c

b c d




